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7 PEEEE a4 1 = 2,920 2,920
8 2=y 0 = 12,600 0
9 K H (4t) 0 = 12,400 0
10 iR RkE (Y — 8.52 m 35,000 298,200
11 HFEAL T I— 5.96 VN 100 596
12 AY)—T 70 E 300 2,100
13 HFE T B 1} ®&vh 4,946 4,946
14 7= — i B4 27,640 27,640
15 BN —Y— 4 1 2,850 11,400
16 R SAN 6 e 2,260 13,560
17 (8 REL RIS 0} Uvhv 150 0
18 TAY— — 0, Uvbv 170 0
19 avg 12.31} Uvkv 170 2,093
20 2=y 0f Uvhv 150 0
21 AR E (4t) 0f Uvbv 150 0
22 K VSTV 3,948 Uvhb 0.0 0{4.7.3. 2B HH
23
24 NG 472,755/ (M/5.36 1)
25
26 {1m 47D HLf 88,2011 (M/nt)
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3.4 [mdiEE O milZ 0 556
BEM T THY | BFRPEm<, 7 b= i 2mVIEEb MR, BEOmWEY, HiiK)
(IR TH DA, 1 B TREAKIECHE S 5720, i THAIERE < 725,

3.4.1 [ 1 B TArRERERI] oo 7R ()
3.4.2  [WETHERK] - EEER

3.4.3 [7F—V—oEm#K] e 2L

3.4.4  [FKEEIE] -oovveerermrrereeeis K ET

3.45 [BEETOEE] s HY

3.4.6 [FVZARNBEIM] oo VB (2 2T 1 Bl >WT 20 5% L)

3.4.7 [UrEm OFIR]
B & 1200 mm, JEHE 700 mm, K¥fi 300 mm, EE 400 m?d LFH . bbb,

3.4.7.1  [PAWrmEAg] oo 0.52 ni

3.4.7.2  [HMEDJEIR] wooveeeeeeees 0.3m

3.4.7.3 [%ﬁﬂiﬁ] ....................... 2.6m

3.4.7.4  [DKCPFERBER] oo 23
3.4.8 [HEAEDHIE] oovvererrmreens W TH a7 ) — K
3.4.9 [f%/ﬁ‘%% .............................. %@aﬁ”ﬁ (1‘2%51@%)
3.4.10 [@][ﬂ‘ﬁjﬁ‘l_ﬁ]’ ........................... ﬁﬁ@][ﬁ;ﬁ
3.4.11 [BA#BAD L UL] e BE, Hi7p &
3.4.12 [HARHL] oo L
3.4.13 [ZKFHET] -ovevmrerrmmreenees oL
3.4.14 [RA %472 Gl TE] oo T~
3.4.15 [%/ﬁ@ﬁ*ﬂ] ........................ ﬁ%ﬁﬁ;@é’{ﬁ%fﬁ%ﬁj—é
3.4.16 [FKDE] -ooveveereereees TERH IR AK Z G T2
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KorHA NI e K72 B S ke
IERPNLS - HEET 1 A 40,500 40,500
2 REREER 1 A 37,375 37,375
3 TEfEER 2 A 33,500 67,000
4 TSR (oK #) 0 A 31,750 0
5 AR L 1 = 47,000 47,000
6 I A 0 =) 5,890 0
7 PEEEE a4 2 = 2,920 5,840
8 2=y 0 = 12,600 0
9 K H (4t) 0 = 12,400 0
10 iR RkE (Y — 4.29 m 35,000 150,150
11 HFEAL T I— 5.96 VN 100 596
12 AY)—T 70 E 300 2,100
13 HFE T B 1} ®&vh 4,946 4,946
14 7= — i B4 27,640 27,640
15 B —y— 0 & 2,850 0
16 R SAN 6 e 2,260 13,560
17 (8 REL RIS 0} Uvhv 150 0
18 TAY— — 0, Uvbv 170 0
19 avg 24.62) Vv 170 4,185
20 2=y 0f Uvhv 150 0
21 AR E (4t) 0f Uvbv 150 0
22 K VSTV 2,184} Uvyhv 0.0 0{4.7.3. 2B HH
23
24 NG 400,892 (M/1.55n%)
25
26 {1m 47D HLf 258,640 (F1/nt)
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